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Interledger allows devs to decentralize the cloud 
using a decentralized web stack. 
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{

    "id":"933cd83a419d2735822a2154c84176a2f419cbd449a74b94e592ab807af23861",

    "transaction":{

        "conditions":[{

                "cid":0,

                "condition":{

                    "details":{

                        "bitmask":32,

                        "public_key":"BwuhqQX8FPsmqYiRV2CSZYWWsSWgSSQQFHjqxKEuqkPs",

                        "signature":None,

                        "type":"fulfillment",

                        "type_id":4

                    },

                    "uri":"cc:4:20:oqXTWvR3afHHX8OaOO84kZxS6nH4GEBXD4Vw8Mc5iBo:96"

                },

                "new_owners":["BwuhqQX8FPsmqYiRV2CSZYWWsSWgSSQQFHjqxKEuqkPs"]

            }],

        "data":{

            "hash":"872fa6e6f46246cd44afdb2ee9cfae0e72885fb0910e2bcf9a5a2a4eadb417b8",

            "payload":{"msg":"Hello BigchainDB!"}

        },

        "fulfillments":[{

                "current_owners":["3LQ5dTiddXymDhNzETB1rEkp4mA7fEV1Qeiu5ghHiJm9"],

                "fid":0,

                "fulfillment":"cf:4:Iq-BcczwraM2UpF-TDPdwK8fQ6IXkD_6uJaxBZd984yx…",

                "input":None

            }],

        "operation":"CREATE",

        "timestamp":"1460981667.449279"

    },

    "version":1

}

condition = cc.Ed25519Fulfillment()
condition.public_key = “BwuhqQ...”
 
# optionally provide condition structure
condition.to_dict()

condition.condition_uri

fulfillment = \     
    input.conditions[0].from_dict()
fulfillment.sign(message, private_key)

fulfillment.serialize_uri()
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if timeout_condition.validate(utcnow()):

    execute_fulfillment.validate(msg) == True

    abort_fulfillment.validate(msg) == False

else:

    execute_fulfillment.validate(msg) == False

    abort_fulfillment.validate(msg) == True
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now() < expiry_time

if fact == True: output = False
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to_dict(), from_dict()

get_subcondition_path_for_type(type_id):

…
return subcondition, indices 

fulfillment.subconditions[indices[0]]['body'] \

                  .subconditions[indices[1]]['body'] \

                  .subconditions[indices[2]]['body']
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